
Facitliste 
Indeks-tal (side 19-21) 

 
Øvelse 34: 
 
Indeks-tal udregnes på fra et bestemt år som ”basistal” (=100%) 
 

 Reklameomkostninger Basisår = 1988 Basisår = 1991 

1988 248.600 kr 100 78,1 
1989 264.000 kr 106,2 83,0 
1990 298.900 kr 120,2 93,9 
1991 318.200 kr 128,0 100 

 
Øvelse 35: 
 

 Index-tal 
1 palle afhentet 100 
1 palle leveret 112 
2 paller leveret 107 
4 paller leveret 105,1 
6 paller leveret 102,5 

 
Øvelse 36: 
 
Aflæs index-tal på grafen: 
124, 118, 137, 132, 147, 158, 153, 154, 138, 146, 148, 175, 133, 137 
 
Øvelse 37: 
 

 Omsætning Index-tal 
1991 1.950.000 kr 100 
1992 1.992.000 kr 102,2 
1993 2.125.000 kr 109 

 
Øvelse 38: 
 

 Omsætning Index-tal 
1992 510.000 kr 100 
1993 566.100 kr 111 
1994 581.400 kr 114 

 


